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(ompute +he 4 th degree Taylor golynomial abovt the oriqin of f(RY)= e”sm (x+y)
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Hessian Form
kI‘ H.F. is pPOSHIvVC deginide | then +he (ntical Point i§ a local minimum

* It H.F 1S negative definide, then +he Intical Qint is a local maximum

* Otherwise, the (nhical Poink is a saddle point.
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Led f(x4,2) = x3ax® e+ Ya22-xy+ 22, Find all the inhical points of f.Uharaciernize
each cntical goints as a local moximum, a local minimvm, or o faddle point.
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© Uassify the CPs using the Hessian
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bxireme Valve Theorem
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Find the global extiema of (% Y4.2)=x+y on +the wrve of intersection of the unit
SpRL . Ery+ 27z, Ond the plane , y+2=1 . Jushiy Yyour answer inciuding an
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..,_f(-_@_'snl?'s-\l?) - 43" (maximum)
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Since § i8 conkinuous on Rond +he inlersechion is a dosed wrve whith is

mpadt in @3, e EVT ensureS that § will obtain a global maximym ond
MINMYM on e inlersechon.
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